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 (A) ممنىع استخدام الآلة الحاسبة والهاتف النقال
 

First and Last Name: ……       Correction      ………………….…  Group:……… 

Exercise 1: (4.5 Pts = 3.5(2.25 (0.75 ×3) + 0.75 + 0.5)+1) 

1) Make the following conversions: 
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 101010100.0011 524.14 154.3 

62.625 111110.101 76,5 3E.A 

174.375 10101110.0110 256.3 AE,6 
 

39(16)=  0101 0111 (BCD) = 1000 1010 (Excess3) = 57 (10) 

1101011(Gray)  = 77 (10) = 1001101 (2) 

2) Perform the following operation in Excess-3:      65 (8) + 54(16) 

65 (8) = 53(10) = 1000 0110 (EX3) 

54(16)= 84(10) = 1011 0111 (EX3) 
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Exercise 2: (4.5 Pts = 2.25 (0.75 ×3) + 2.25 (1.5+0.75)) 

1)Give the decimal values corresponding to the octal content on 8 bits, knowing that this content is 

represented in S-Mag,1'sC, 2'sC: 354(8) 
 

S-Mag : 11101100 (S-Mag) = -(1101100)(2) = -108(10) 
 

1'sC : 11101100 (1’sC) = -(00010011) (2) = -19(10) 
 

2'sC : 11101100 (2’sC) = -(00010100) (2) = -20(10) 
 

2) Perform the following operations on 9 bits in 1'sCand give the results in decimal: 

-56(16) + 74 (8) 
 

-56(16) = -(01010110)(2) = 110101001(1C)  (9bits) 

+74(8) = 000111100(1C) 

                 110101001 

              + 000111100 

                 111100101(1C) = - (000011010)(2)= - 26(10) 

+56(8) + FD(16) 

                  

                 000101110 

              + 011111110 

                 100101100(1C) 

          Incorrect Result (Overflow) 
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Exercise 1: (4.5 Pts: 3.5(2.25 (0.75 x3) + 0.75 + 0.5) +1)

1) Make the following conversions:
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Exercise 2z (4.5 Pts: 2,25 (0.75 x3) + 2.25 (1.5+0.75))

is represented in S-Mag, I'sC,2'sC: 354(8) XtA \

2) Perform the following operations on 9 bits in I'sC and give the results in decimal:

-56 6o; + 74 61 +561sy + FDlroy
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